AERR-E A B4
M BMQ M2 AD Y=g
Bl F4y ZHE M CERED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
4kt 14,738,965 14,919,939 A180,974
= 24,000
| 6,992,557
& 7,722,408
A 8= 210 HES 14,707,102 14,888,076 A180,974
= 24,000
| 6,992,557
& 7,690,545
S ¥ M 1,074,000 861,580 212,420
| 8,000
& 1,066,000
ShXl BHsEdE ZAXNA (=) 9,600 12,000 A2,400
| 8,000
= 1,600
308 AXIHMSOI& 9,600 12,000 A2,400
| 8,000
== 1,600
01 IXSHBAEES 9,600 12,000 A2,400
OHYX BMs2EE ZHXE 9,600
| 8,000
& 1,600
o FSEIS3 874,300 687,835 186,465
202 o4t 3,000 5,335 A2,335
01 =WHO4HI 3,000 5,33 A2,335
082 B35 HRFH 3,000
308 XIS MSO0IH 859,300 682,500 176,800
01 AXSHBAEERS 859,300 682,500 176,800
Ot FHEI=3 859,300
403 XX HMS =01 12,000 12,000
01 XEXIEH 22X 12,000 12,000
OUNEL SHAIL X K& 12,000
Ssaty AHotd X3 90,240 90,240 0
308 AtXIEtMSO0IN 90,240 90,240
01 AXEHBAEES 90,240 90,240
oY=y ety X 90,240
N=EAE Siist XA 15,000 15,000
403 XX SHHMSK=01AH 15,000 15,000
01 AXIHAA2EE 15,000 15,000
QIIEAE HES 15,000
FZL= 2F MG 76,860 71,505 5,355
202 odd| 5,355 5,35 0
01 =LH4b] 5,355 5,35 0
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2= s8= AN B4t
FM: =MY M2 3D IS
Bl F4y ZHE M CERED
4224 - Z™ - G9(3) - MRAY - BES of v e HIDEZ
OFIA=E B Wi HRFA 5,355
308 KX M SO0IE 71,505 66,150 5,355
01 MXSHH B2 xS 71,505 66,150 5,355
OBdA=E B HAE 71,505
SOEHH ey et 8,000 8,000
307 212+01& 8,000 8,000
02 QIRIFAAHER 8,000 8,000
OFAEHHl Azr2dst 8,000
=4 3 erdEE 888,998 1,020,180 N131,182
5t SO0tRIAAH oFA 7,000 10,000 /3,000
308 KX MISO0IE 7,000 10,000 /3,000
01 XM B2 XS 7,000 10,000 /3,000
O&t SO0FX AL OtF 7,000
F4hsI =201 X 141,480 141,480
308 NHXIEMISOIE 141,480 141,480
01 HXHHBExS 141,480 141,480
OFMsIH =201 X 141,480
IIEMEE K& 650,000 772,200 N122,200
308 REXIEME0IH 650,000 772,200 N122,200
01 AXSHHBLEEZ 650,000 772,200 A122,200
OJI=TMHEE I 650,000
SMsI BE+ AL X 22,500 22,500 0
403 AXIEHMSA=01A 22,500 22,500
01 XA A =E X 22,500 22,500
ogd=sIl 38+ A4 K& 22,500
Z 4l 02 AEYA2AGH X 50,000 50,000 0
308 AHXIEMSOIE 50,000 50,000
01 XN ELS 50,000 50,000
O=Y Ul n2 AEA2ASH XA 50,000
KATHOH S SAAIE orA e XI& 9,000 9,000 0
403 XAXIEHSKH=Z0IH 9,000 9,000
01 XM =2 E 9,000 9,000
o<z UEF XHAIE XA 9,000
=AF SO EIIAIE JHA 9,018 0 9,018
308 XXM SOOI 9,018 9,018
01 AXHHBAELS 9,018 9,018
SAAIE HD|otE EHY 9,018
ZANE NSHAH 2= 4,048,970 3,221,530 827,440
] 2,042,800
[ 2,006,170
IME MEE XA(=1) 2,898,060 2,485,520 412,540
) 1,977,800
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Ciol ZAZ NSAA P& (ciel mg)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 920,260
308 AXIHMSOI& 2,898,060 2,485,520 412,540
| 1,977,800
o= 920,260
01 IXSHHBAEES 2,898,060 2,485,520 412,540
OXAZ A X 2,898,060
| 1,977,800
& 920,260
TAE A JIHEY] XJ(=12) 104,000 102,400 1,600
| 65,000
= 39,000
403 XX HMS =01 A 104,000 102,400 1,600
| 65,000
= 39,000
01 RAIXIHANA2EE 104,000 102,400 1,600
OZAIZ A Al & JIHEHl XA 104,000
| 65,000
o= 39,000
FEXN ZAlE: MAEH X 124,600 64,600 60,000
202 04d| 4,600 4,600 0
01 =WOdbI 4,600 4,600 0
ORSFA ZAlZ MAHEH] X 2= 4,600
403 XtXIHMS =01 A 120,000 60,000 60,000
01 XIXISHH A =2E X 120,000 60,000 60,000
FEA ZAIZ MAEH] X 120,000
2ENE 28 ZAME ANSE 20U 278,310 278,310
308 AXIHMSOI& 21,210 21,210
01 XN BAEES 21,210 21,210
OREXNE &8 TAE AZ2E & 21,210
403 XXM S KH=201& 257,100 257,100
01 AIXISHH K22 X 257,100 257,100
OFE=XE 2E TAlg UN2E & 257,100
NEL 4= M TR 384,000 100,000 284,000
308 AHXIHMSOI& 384,000 100,000 284,000
01 AXIEHBAEES 384,000 100,000 284,000
OLZE 4= Mot J& 384,000
0l =AtZ MAEH K& 140,000 140,000
403 X SHMSAH=01 A 140,000 140,000
01 RXISHA=ZE X 140,000 140,000
OFHU Atz MAEH| K& 140,000
IAE FSHH A8 X2 120,000 0 120,000
403 THXIHMS =01 120,000 120,000
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AET B SN S
M =Y &= 21 B3
ERl: RN ISHA 2= (CHel: &<l
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
01 XtXIEHHI A= 2 = 120,000 0 120,000
OZME RSHH 28 & 120,000
IEER NS 2,604,900 1,600,032 1,004,868
Il 1,240,600
< 1,364,300
FAAFINEAS (21) 1,605,000 710,280 894,720
Il 1,070,000
& 535,000
403 XXM SIH=01A 1,605,000 710,280 8%4,720
Il 1,070,000
= 535,000
01 MXIHHAZ2E X 1,605,000 710,280 84,720
OFAAF N ALY 1,605,000
Il 1,070,000
= 535,000
IHEEL 0IEE(=1) 255,900 348,252 N92,352
Il 170,600
[ 85,300
308 NHXIEMSOIE 255,900 348,252 A92,352
Il 170,600
& 85,300
01 XM EXS 255,900 348,252 A92,352
OEH|&2H| XI& 255,900
Il 170,600
= 85,300
A& JIE2 R el 744,000 472,500 271,500
403 XM SKH=01H 744,000 472,500 271,500
01 AR A= E & 744,000 472,500 271,500
Odtl&et JIEER Xl 744,000
oty N 566,180 436,930 129,250
Il 20,000
< 546,180
SHHEH ICT J1H - ZHI(21) 30,000 12,000 18,000
J| 20,000
= 10,000
403 XIS A=201H 30,000 12,000 18,000
Il 20,000
= 10,000
01 XXt At=22 = 30,000 12,000 18,000
OAH=E ICT JIH - EHI 30,000
J| 20,000
S 10,000
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= 8= A Fek
M =MY M= 21 S
=l FAeH M (Ete M)
AR 2K - FR - C(SIH) - MIRAY - B (TPNET i HmE=FT
E2e AFNY S 280,500 161,500 119,000
403 TR SMSKH=01H 280,500 161,500 119,000
01 AR A= E X 280,500 161,500 119,000
OQIEERx AFNS S 280,500
e setsd 24 255,680 263,430 NT,750
202 04l 3,680 4,680 21,000
01 =Gl 3,680 4,680 1,000
ONRet SMtsd &9 gR=FA 3,680
308 A XIHHMSOIA 225,000 227,250 N2,250
01 XM BAEERS 225,000 227,250 22,250
OMRet =¢tsd =d 225,000
403 THXISHMSKH=01H 27,000 31,500 24,500
01 RIS =E X 27,000 31,500 24,500
OMRE Stsd =4 27,000
o A8 F 1,790,200 2,505,526 NT715,326
= 24,000
) 1,200,000
< 566,200
S22 4 ALE (=) 27,600 36,800 29,200
= 24,000
[ 3,600
308 AXIEHMSOIE 27,600 36,800 29,200
= 24,000
< 3,600
01 MM B2 xS 27,600 36,800 29,200
OsSE=X =4t 2ALE 27,600
= 24,000
[ 3,600
SAHZ0F ICT 828 &HeH(=1) 1,200,000 1,140,000 60,000
pJ 1,200,000
403 XX EHMIE =01 1,200,000 1,140,000 60,000
) 1,200,000
01 AXISHA=E X 1,200,000 1,140,000 60,000
O=4H20k ICT S8 &t 1,200,000
pJ 1,200,000
s SLAE T 481,500 402,000 79,500
403 XXIEMSA=Z01A 481,500 402,000 79,500
01 MRS =E X 481,500 402,000 79,500
OXsg FMAE X 481,500
S==A s N 23,100 9,726 AT73,626
403 MRS HE01H 23,100 9,726 NT73,626
01 MXIHHA=ZE X 23,100 %,726 NT73,626
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2 =332
g |4MY 8= x| 39
el J& &S Ost EEREE)
ARV RE - R=SIERNE i HIDEZ
S 82,591
308 NHXIEMISO0IE 398,203 438,697 A40,494
Jl 315,612
& 82,591
01 MAHHBSExS 398,203 438,697 A40,4%4
Ostls0HME 398,203
Il 315,612
= 82,591
=ad s0te e - 298 X 18,240 24,000 A5,760
J 15,200
S 3,040
308 NtXIEMSO0IE 18,240 24,000 Ab,760
Jl 15,200
S 3,040
01 XN B EES 18,240 24,000 A5, 760
ORad S0t e - 28 X 18,240
Il 15,200
& 3,040
sE2 sotEds(=20) 27,000 27,000 0
Jl 22,500
= 4,500
308 AHAIEHMISOIE 27,000 27,000 0
pJ 22,500
S 4,500
01 XN B SELS 27,000 27,000 0
Os&E2g sitgdst 27,000
Il 22,500
& 4,500
SE0t ZEAsH(=21) 2,400 7,200 4,800
Il 2,000
= 400
308 AR M SOIE 2,400 7,200 A\4,800
7l 2,000
= 400
01 AXHHBSEES 2,400 7,200 /4,800
OsS0t =3t 2,400
Il 2,000
S 400
mad sl 28 X2 15,000 15,000
308 AXIHHISOIA 15,000 15,000
01 HXHHBSExS 15,000 15,000
orad s0td 248 X& 15,000
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a2 =33 SN AT
A ZaQ M2 2D 4B
thel: BE Y 4 EEEESED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
SdiE e =4 379,015 384,715 A5, 700
2AAYSE BehE JLE 2435t 30,000 42,000 A12,000
307 2I2+01A 30,000 30,000 0
02 QIRHE &AL B = 30,000 30,000 0
O Ad==HC LI 435 30,000
ARASAE SEEHE Y - 54 15,000 15,000
307 QI2H0l M 15,000 15,000
02 QIRHEAAIEE = 15,000 15,000
OLA=LE SEEUHE Y 15,000
2GR SEEHE XML 334,015 327,715 6,300
308 AXISHMSOIN 334,015 327,715 6,300
01 AXESHHBAEES 334,015 327,715 6,300
OZ3ste SEHEHE XML 334,015
FSHA D=3t 391,936 370,309 21,627
J| 319,045
= 72,891
M2 0lg2e| Ja(=1) 391,936 347,809 44127
| 319,045
= 72,891
307 QI2Hol ™ 22,714 22,714 0
| 11,357
& 11,357
02 QI BAAIHE X 22,714 22,714 0
O=4t= 0|2 22| RIE 22,714
J| 11,357
& 11,357
308 AtXIHM SO 369,222 325,095 44127
J| 307,688
& 61,534
01 AXSHHBNEERS 369,222 325,095 44,127
O=F4t2 0158 2e| K& 369,222
| 307,688
= 61,534
st =58 o#E 2,156,000 3,342,077 N1,186,077
J| 1,800,000
& 356,000
SHNRRSAXA(=21) 2,040,000 3,246,077 1,206,077
J| 1,800,000
= 240,000
308 AHXIHM SO & 2,040,000 3,246,077 A1,206,077
J| 1,800,000
= 240,000
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